[ Efficiency vs vertpos |

—0.05
$.045
2
20.04
(&)
$.035
O
£0.03
0.025
0.02
0.015
0.04
0.005
ol

Ratio

1

0.9

0.8

=
2
N

..................................

R
Y

+
L

ARNRAC= ~ o L L AL AN LALAS RN RRRRN RARRN LARRE RRRLN LRRR

107 1

10 0?
TP vertr (cr%)

[—=— DQM_TT__mKFI-DQM_original
—_— /dataz/leglann|/standa|6ne May24/CMSSW_13_2_X_2023-06-05-1100/src/DQM_TT__mkFit-DQM_updated

ol —— DQM_TT___mkFit-DQM_original_newwindows
Efficiend = pSM 1T mkFit.DOM upgale hod127

...............................

...............................

...........................

......

e | e

30

TP vert z (cm)

[ Efficiency vs. sim PV z |

~n0.05 T
P R SUUU U SUNU SN
L e S S

E

0.005

10
1.1

Ratio

e
Boask o)
I R
;@025 : PRI ERPRRE:
0.02
0.015

o e I

........

%
.

1

T
K
———
=1

0.9F--

— E
+——

50 =15 =10 =5 0 5 10 15 20

Sim. PV z (cm)



	Contents
	Page 1


